Clearing The Fog On Cyber Attacks


1. Cyber Insurance is a Risk ________ Mechanism.
[bookmark: _Hlk157069906]Answer:

2. Which of the following is not a way an organization can handle risk? 
a. Mitigate
b. Avoid
c. Hope and Pray
d. Accept

3. What is the most prevalent cyber attack that leads to a cyber insurance claim? 
Answer:

4. What cyber attack is where a cyber-criminal gains access to a person’s email inbox and uses that access to perform fraudulent communications? 
Answer:

5. Give 3 components of good cyber resilience. 
Answer:

6. BONUS QUESTION: What is it called when you practice your Incident Response Plan in a simulated situation? 
Answer:
